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QUESTION 1

Which two SAN designs appropriate to support large-scale SAN environments? (Choose two)
A. Edge-core-edge design

B. Fibre Channel forwarder

C. Split fabric design

D. Core-edge design

E. Dual fabric design

Correct Answer: AD

QUESTION 2

You are redesigning a single-level 1S-IS network with 500 routers, which have short-haul and long-haul links Most of the
time the routing domain is stable, but periodically interfaces on long-haul links bounce for a short period of time ,
causing

10 to 20 flaps in a few minutes. The probable cause is local road construction. Although fast convergence important, the
client has concerns about taxing CPU cycles on the older routing platforms.

What change should you recommend that both protects the CPU of the older routers during the short periods of
excessive flapping, yet does not have an impact on fast convergence for all interface failures?

A. Modify hello timers on routers with short-haul links

B. Implement LSP generation throttling on routers with long-haul links

C. Modify the length of time than an LSP remains in the router database without being refreshed on all routers
D. Implement a delay between successive 1S-IS LSP packet transmissions on routers with long-haul links

Correct Answer: D

QUESTION 3

Which two IEEE standards are commonly used at the data link layer for an access network, in an 10T environment?
(Choose 2)

A. 802.11
B. 802.16

C.802.15.4
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D. 1901.2 NB-PLC
E. 802.22

Correct Answer: AC

QUESTION 4

Which Option is an example of SaaS?
A. Google Apps

B. Amazon AWs

C. Google App Engine

D. Microsoft Azure

Correct Answer: A

QUESTION 5

Which three methods allow storage access across an IP network? (Choose three.)
A. FCIP

B. Fiber Channel over GRE

C. Fiber Channel over L2TPv3

D.iSCslI

E. NFS

Correct Answer: ADE
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